Date: 4/1/15				Parisi	Capitol	Speedway	
		S & L Underground and		Construction	Underground,	Sand & Gravel	
			ing Inc.	Co., Inc.	Inc.	Inc.	Company, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
Section B: Proposal Page							
10701.0 - TRAFFIC CONTROL - L.S.	1.00	\$6,425.00	\$6,425.00	\$6,600.00	\$6,425.00	. ,	
10911.0 - MOBILIZATION - L.S.		\$21,000.00	\$21,000.00	\$20,000.00	\$89,000.00		
20101.0 - EXCAVATION CUT - C.Y.	5757.00	\$15.00	\$86,355.00	\$17.50	\$19.05	\$12.50	\$20.20
20140.0 - GEOTEXTILE FABRIC, TYPE SAS NON-							
WOVEN - SY	5515.00	\$1.80	\$9,927.00	\$1.70	\$1.15		\$1.70
20219.0 - BREAKER RUN - TON	3676.00	\$10.00	\$36,760.00	\$8.30	\$9.40		· ·
20303.0 - SAWCUT BITUMINOUS PAVEMENT - L.F.	868.00	\$1.00	\$868.00	\$1.00	\$1.25	\$1.00	\$1.00
30340.0 - CURB RAMP DETECTABLE WARNING							
FIELDS - SF	56.00	\$25.00	\$1,400.00	\$20.00	\$28.00	\$32.00	\$25.00
20401.0 - CLEARING - ID	93.00	\$20.00	\$1,860.00	\$20.50	\$20.00	\$20.00	\$20.00
20403.0 - GRUBBING - ID	205.00	\$20.00	\$4,100.00	\$20.50	\$20.00	\$20.00	\$20.00
40101.0 - CRUSHED AGGREGATE BASE COURSE,							
GRADATION NO. 1 - TON	3971.00	\$13.60	\$54,005.60	\$14.50	\$11.15	\$12.77	\$13.40
40102.0 - CRUSHED AGGREGATE BASE COURSE,							
GRADATION NO. 2 - TON	2647.00	\$13.60	\$35,999.20	\$11.75	\$11.15	\$12.55	\$13.85
40201.0 - HMA PAVEMENT TYPE E-0.3 - TON	3779.00	\$59.85	\$226,173.15	\$61.00	\$59.85	\$59.85	\$59.85
40311.0 - PULVERIZE & SHAPE (HILLCREST DR) -							
SY	6966.00	\$1.60	\$11,145.60	\$2.65	\$2.35	\$3.15	\$2.95
40381.0 - REMOVE & REPLACE CONCRETE CURB							
& GUTTER, MACHINE PLACED-RESURFACING -							
L.F.	863.00	\$25.50	\$22,006.50	\$22.75	\$24.75	\$28.00	\$23.60
90001.0 - REMOVE & REPLACE ASPHALT DRIVE			,	•	·		
APRON & WALK - SF	429.00	\$9.40	\$4,032.60	\$2.90	\$5.50	\$5.35	\$6.40
20217.0 - CLEAR STONE - TON	1200.00	\$14.00	\$16,800.00	\$14.50	\$4.00		•
21001.0 - EROSION CONTROL PLAN &		,	, -,	,	•	,	•
IMPLEMENTATION - LS	1.00	\$800.00	\$800.00	\$1,000.00	\$2,880.00	\$750.00	\$670.00
===		ψοσοίσο	ψοσο.σσ	ψ.,σσσ.σσ	Ψ=,000.00	ψ. σσ.σσ	ψο. σ.σσ
21002.0 - EROSION CONTROL INSPECTION - EACH	10.00	\$400.00	\$4,000.00	\$82.00	\$120.00	\$500.00	\$400.00
21011.0 - CONSTRUCTION ENTRANCE - EACH	5.00	\$400.00	\$2,000.00	\$130.00	\$240.00	·	·
21012.0 - STREET CONSTRUCTION ENTRANCE	0.00	ψ.55.55	ψ=,000.00	ψ.00.00	Ψ= .0.00	ψσ.σσ	φοσο.σσ
BERM - EACH	5.00	\$150.00	\$750.00	\$130.00	\$360.00	\$150.00	\$250.00
21013.0 - STREET SWEEPING - LS	1.00	\$3,500.00	\$3,500.00	\$5,000.00	\$5,224.00	*	\$700.00
2.0.0.0	1.00	ψο,οσο.σο	ψο,σσσ.σσ	ψο,σσσ.σσ	ΨΟ,ΖΖ Τ.ΟΟ	ψο,σσσ.σσ	ψ, σσ.σσ

Date: 4/1/15		S&I IInda	rground and	Parisi Construction	Capitol Underground,	Speedway Sand & Gravel	R.G. Huston
			ing Inc.	Co., Inc.	Inc.	Inc.	Company, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
21015.0 - STREET CONSTRUCTION STONE BERM -							
EACH	15.00	\$150.00	\$2,250.00	\$130.00	\$240.00	\$150.00	\$250.00
21056.0 - INLET PROTECTION TYPE D HYBRID -							
PROVIDE & INSTALL - EACH	19.00	\$150.00	\$2,850.00	\$25.75	\$80.00	\$80.00	\$160.00
21057.0 - INLET PROTECTION TYPE D HYBRID -							
MAINTAIN - EACH	38.00	\$25.00	\$950.00	\$12.25	\$25.00	\$25.00	\$65.00
21058.0 - INLET PROTECTION TYPE D HYBRID -						_	
REMOVE - EACH	19.00	\$25.00	\$475.00	\$20.00	\$12.00	\$12.00	\$25.00
50411.0 - 12 INCH RCP STORM SEWER PIPE - L.F.	210.00	\$62.00	\$13,020.00	\$53.00	\$57.50	\$65.23	\$76.79
50741.0 - TYPE H INLET - EACH	7.00	\$2,165.00	\$15,155.00	\$2,100.00	\$1,587.00	\$2,000.00	\$1,750.00
10702.0 - TRAFFIC CONTROL FOR STORM SEWER							
INSTALLATION - LS	1.00	\$1,250.00	\$1,250.00	\$1,300.00	\$1,250.00	\$1,250.00	\$1,250.00
10912.0 - MOBILIZATION FOR STORM SEWER							
INSTALLATION - LS	1.00	\$1,400.00	\$1,400.00	\$2,500.00	\$2,440.00		
20312.0 - REMOVE CATCHBASIN - EACH	1.00	\$525.00	\$525.00	\$530.00	\$438.00	*	·
20313.0 - REMOVE INLET - EACH	2.00	\$430.00	\$860.00	\$520.00	\$416.00	·	
20336.0 - PIPE PLUG - EACH	1.00	\$205.00	\$205.00	\$350.00	\$535.00	\$350.00	\$330.00
50211.0 - SELECT BACKFILL FOR STORM SEWER -		* 0.04	# 0.00	# 0.04	0 0.40	*	A 2 2 4
T.F.	360.00	\$0.01	\$3.60	\$0.01	\$0.10	\$0.01	\$0.01
50412.0 - 15 INCH RCP STORM SEWER PIPE - L.F.	150.00	\$65.00	\$9,750.00	\$57.00	\$58.00	\$68.02	\$79.40
50723.0 - 3'X3' STORM SAS - EACH	1.00	\$3,290.00	\$3,290.00	\$2,200.00	\$2,881.00		
50792.0 - STORM SEWER TAP - EACH	1.00	\$680.00	\$680.00	\$1,000.00	\$829.00	·	·
50721.0 - 6'X6' CATCHBASIN - EACH	1.00	\$5,900.00	\$5,900.00	\$6,100.00	\$6,650.00	\$6,910.00	\$7,400.00
10704.0 - TRAFFIC CONTROL FOR SANITARY							
SEWER INSTALLATION - LS	1.00	\$1,325.00	\$1,325.00	\$1,400.00	\$1,325.00	\$1,325.00	\$1,325.00
10914.0 - MOBILIZATION FOR SANITARY SEWER							
INSTALLATION - LS	1.00	\$1,400.00	\$1,400.00	\$100,000.00	\$134,000.00	\$25,000.00	\$13,500.00
20311.0 - REMOVE SEWER ACCESS STRUCTURE							
(SANITARY) - EACH	21.00	\$700.00	\$14,700.00	\$480.00	\$502.00	\$500.00	\$440.00
20331.0 - ABANDON SEWER ACCESS STRUCTURE - EACH	4.00	\$460.00	\$1,840.00	\$330.00	\$274.00	\$400.00	\$440.00
LANTI	4.00	ψ 4 00.00	ψ1,040.00	ψυυυ.00	ψ∠1 4 .00	ψ -1 00.00	ψ ++ υ.00

Date: 4/1/15		S & L Underground and Trucking Inc.		Parisi Construction Co., Inc.	Capitol Underground, Inc.	Speedway Sand & Gravel Inc.	R.G. Huston Company, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
20501.0 - ADJUST SEWER ACCESS STRUCTURE - EACH 50201.0 - ROCK EXCAVATION (UNDISTRIBUTED) -	4.00	\$200.00	\$800.00	\$300.00	\$191.00	\$350.00	\$370.00
C.Y. 50212.0 - SELECT BACKFILL SANITARY SEWER -	70.00	\$80.00	\$5,600.00	\$80.00	\$99.00	\$90.00	\$125.00
T.F.	6703.00	\$0.01	\$67.03	\$0.01	\$0.10	\$0.01	\$0.01
50226.0 - UTILITY TRENCH PATCH TYPE III - S.Y. 50301.0 - 8" PVC SEWER PIPE (SDR-35, SDR-26) -	25.00	\$59.00	\$1,475.00	\$75.00	\$101.00	\$50.00	\$63.00
L.F. 50353.0 - SANITARY SEWER LATERAL (SDR 35,	3792.00	\$87.00	\$329,904.00	\$91.00	\$88.25	\$89.94	\$115.10
SDR 26) - L.F. 50354.0 - RECONNECT SANITARY SEWER	2911.00	\$35.00	\$101,885.00	\$19.25	\$20.00	\$29.48	\$15.80
LATERAL - EACH	82.00	\$1,800.00	\$147,600.00	\$2,000.00	\$1,720.00	\$2,286.00	\$2,090.00
50361.0 - WASTEWATER CONTROL - LS	1.00	\$6,600.00	\$6,600.00	\$250.00	\$4,080.00	\$2,500.00	\$5,465.00
50701.0 - 4' DIA SAS - EACH	27.00	\$2,630.00	\$71,010.00	\$3,600.00	\$2,857.00	\$3,287.00	\$2,860.00
50390.0 - SEWER ELECTRONIC MARKERS - EACH	179.00	\$66.00	\$11,814.00	\$41.00	\$18.00		·
50791.0 - SANITARY SEWER TAP - EACH 10703.0 - TRAFFIC CONTROL FOR WATER MAIN	7.00	\$1,075.00	\$7,525.00	\$2,100.00	\$1,182.00	\$1,100.00	\$940.00
INSTALLATION - L.S. 10913.0 - MOBILIZATION FOR WATER MAIN	1.00	\$400.00	\$400.00	\$410.00	\$400.00	\$4,825.00	\$400.00
INSTALLATION - L.S.	1.00	\$1,975.00	\$1,975.00	\$101,727.51	\$60,400.00	\$40,000.00	\$34,700.00
50225.0 - UTILITY TRENCH PATCH TYPE III - T.F. 70001.0 - FURNISH AND INSTALL 4 INCH PIPE &	225.00	\$60.00	\$13,500.00	\$50.00	\$48.00	\$48.00	\$61.00
FITTINGS - L.F. 70002.0 - FURNISH AND INSTALL 6 INCH PIPE &	20.00	\$113.00	\$2,260.00	\$120.00	\$108.00	\$188.92	\$235.00
FITTINGS - L.F. 70003.0 - FURNISH AND INSTALL 8 INCH PIPE &	225.00	\$107.00	\$24,075.00	\$96.00	\$104.00	\$106.66	\$118.70
FITTINGS - L.F. 70005.0 - FURNISH AND INSTALL 12 INCH PIPE &	3540.00	\$92.00	\$325,680.00	\$75.00	\$90.40	\$101.90	\$108.50
FITTINGS - L.F. 70007.0 - FURNISH AND INSTALL 20 INCH PIPE &	30.00	\$281.00	\$8,430.00	\$140.00	\$179.00	\$237.04	\$339.00
FITTINGS - L.F.	540.00	\$175.00	\$94,500.00	\$130.00	\$175.00	\$199.97	\$237.20

Date: 4/1/15		S & L Underground and Trucking Inc.		Parisi Construction Co., Inc.	Capitol Underground, Inc.	Inc.	Company, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
70030.0 - FURNISH AND INSTALL 4-INCH WATER							
VALVE - EACH	2.00	\$1,278.00	\$2,556.00	\$1,800.00	\$1,210.00	\$1,423.00	\$1,720.00
70031.0 - FURNISH AND INSTALL 6-INCH WATER					4		
VALVE - EACH	12.00	\$1,600.00	\$19,200.00	\$2,000.00	\$1,423.00	\$1,619.00	\$1,250.00
70032.0 - FURNISH AND INSTALL 8-INCH WATER	44.00	# 0.400.00	# 00 400 00	# 0.400.00	# 4 000 00	#0.447.00	04.740.00
VALVE - EACH	14.00	\$2,100.00	\$29,400.00	\$2,400.00	\$1,896.00	\$2,117.00	\$1,710.00
70034.0 - FURNISH AND INSTALL 12-INCH WATER VALVE - EACH	1.00	CO 440 00	CO 440 00	#4 000 00	#2.200.00	#2.042.00	#2.200.00
70036.0 - FURNISH AND INSTALL 20-INCH WATER	1.00	\$3,440.00	\$3,440.00	\$4,200.00	\$3,200.00	\$3,613.00	\$3,260.00
VALVE - EACH	1.00	\$11,160.00	\$11,160.00	\$5,700.00	\$5,180.00	\$5,266.00	\$4,540.00
70040.0 - FURNISH, INSTALL AND SALVAGE	1.00	\$11,100.00	\$11,160.00	\$5,700.00	φ5,160.00	\$5,266.00	\$4,540.00
HYDRANT - EACH	9.00	\$3,700.00	\$33,300.00	\$3,800.00	\$4,120.00	\$4,538.00	\$2,990.00
70050.0 - FURNISH AND INSTALL NEW 1-INCH	3.00	ψο,7 ου.ου	ψ00,000.00	ψο,οοο.οο	ψ+,120.00	ψ+,000.00	Ψ2,550.00
SERVICE LATERAL - EACH	10.00	\$2,170.00	\$21,700.00	\$1,600.00	\$1,613.00	\$1,593.00	\$2,050.00
70053.0 - REPLACE 1-INCH COPPER SERVICE	. 5.55	Ψ=,σ.σσ	Ψ=1,1 σσισσ	ψ.,σσσ.σσ	Ψ.,σ.σ.σσ	ψ.,σσσ.σσ	Ψ=,σσσ.σσ
LATERAL - L.F.	50.00	\$61.00	\$3,050.00	\$94.00	\$130.00	\$76.25	\$123.80
70055.0 - REPLACE 2-INCH COPPER SERVICE		•	+-,	,	,	•	•
LATERAL - L.F.	30.00	\$103.00	\$3,090.00	\$140.00	\$171.00	\$84.00	\$280.70
70056.0 - RECONNECT 1-INCH SERVICE LATERAL -							
EACH	77.00	\$1,080.00	\$83,160.00	\$1,100.00	\$1,202.00	\$1,343.00	\$1,715.00
70057.0 - RECONNECT 1 1/2-INCH SERVICE							
LATERAL - EACH	1.00	\$2,500.00	\$2,500.00	\$1,800.00	\$2,380.00	\$2,525.00	\$1,500.00
70080.0 - CUT-IN OR CONNECT TO EXISTING							
WATER SYSTEM - EACH	8.00	\$2,366.00	\$18,928.00	\$2,000.00	\$2,529.00	\$2,400.00	\$2,635.00
70081.0 - FURNISH EXCAVATION AND DITCH FOR							
LIVE TAP - EACH	3.00	\$1,280.00	\$3,840.00	\$2,000.00	\$1,350.00	\$1,500.00	\$1,135.00
70000 0 OUT OFF FMOTING MATER MANY 5400		* • • • • • • • • • • • • • • • • • • •	* 40.0 ** 0.55	# 0.000.55	A 4 A 4 - - - -	# 0.005.55	#4.000.
70082.0 - CUT OFF EXISTING WATER MAIN - EACH	7.00	\$1,850.00	\$12,950.00	\$2,000.00	\$1,815.00		
70090.0 - ABANDON WATER VALVE BOX - EACH	15.00	\$152.00	\$2,280.00	\$250.00	\$220.00	\$200.00	\$137.00
70091.0 - ABANDON WATER VALVE ACCESS STRUCTURE - EACH	1.00	¢ 044.00	©044.00	¢250.00	00 00ch	¢400.00	\$450.00
70101.0 - FURNISH AND INSTALL STYROFOAM -	1.00	\$844.00	\$844.00	\$250.00	\$380.00	\$400.00	φ430.00
L.F.	64.00	\$12.00	\$768.00	\$20.25	\$12.50	\$12.00	\$12.20
Lil i	04.00	ψ12.00	ψ1 00.00	ψ20.23	ψ12.50	ψ12.00	ψ12.20

Date: 4/1/15				Parisi	Capitol	Speedway	
		S & L Underground and		Construction	Underground,	Sand & Gravel	R.G. Huston
		Trucking Inc.		Co., Inc.	Inc.	Inc.	Company, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
70102.0 - LANDSCAPE RESTORATION FOR WATER							
MAIN - L.F.	30.00	\$31.20	\$936.00	\$20.50	\$19.50	\$19.50	\$30.00
70104.0 - ADJUST WATER VALVE BOX - EACH	10.00	\$510.00	\$5,100.00	\$250.00	\$145.00	\$150.00	\$288.00
90160.0 - RELOCATE EXISTING 20-INCH							
BUTTERFLY VALVE - EACH	1.00	\$8,400.00	\$8,400.00	\$3,600.00	\$1,882.00	\$3,335.00	\$2,285.00
20314.0 - REMOVE PIPE (STORM) - L.F.	96.00	\$20.00	\$1,920.00	\$19.25	\$22.00	\$15.00	\$29.90
40382.0 - REMOVE & REPLACE CONCRETE CURB							
& GUTTER, HAND PLACED-RESURFACING - L.F.	3520.00	\$32.98	\$116,089.60	\$36.00	\$35.00	\$35.00	\$33.30
40391.0 - REMOVE & REPLACE 5 INCH							
CONCRETE SIDEWALK-RESURFACING - SF	9395.00	\$7.40	\$69,523.00	\$7.20	\$6.55	\$7.00	\$7.40
40392.0 - REMOVE & REPLACE 7 INCH CONCRETE							
SIDEWALK RESURFACING - SF	5965.00	\$8.06	\$48,077.90	\$7.50	\$7.45	\$7.50	\$8.00
50801.0 - UTILITY LINE OPENING (STORM) - EACH	5.00	\$550.00	\$2,750.00	\$640.00	\$564.00	\$500.00	\$460.00
20221.0 - TOPSOIL - S.Y.	466.00	\$6.00	\$2,796.00	\$5.00	\$2.85	\$2.85	\$8.05
20701.00 - TERRACE SEEDING - S.Y.	466.00	\$2.50	\$1,165.00	\$2.00	\$2.20	\$2.20	\$2.00
21061.00 - EROSION MATTING, CLASS I URBAN							
TYPE A - S.Y.	466.00	\$1.60	\$745.60	\$7.00	\$1.55	\$1.55	\$3.00
Totals			\$2,292,505.38	\$2,410,888.94	\$2,464,114.60	\$2,528,451.66	\$2,572,425.03